[This question paper contains 4 printed pages.]

Sr. No. of Question Paper : 5362 D Your Roll No................
Unique Paper Code 1 227451
Name of the Coursé : B.A. Programme — Economics
Name of the Paper : Principles of Macro Economics — (II)
- Semester | o \%
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.
2. Attempt five questions in all. First question is compulsory.
3. All questions carry equal marks.

4. Answers may be written in Hindi or English but the same medium should be

followed throughout the paper.
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1. Write short notes on any two of the following : (7.5+7.5)
(a) Derive IS curve from goods market equilibrium.

(B) Cost Push inflation.
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(c) Distinguish between balance of trade and balance of payments.

(d) Factors affecting shift of short run aggregate supply curve (SRAS)
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2. Derive aggfegate demand curve. What factors lead to shift in aggregate demand

curve ? (15)
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3. (a) What do you understand by crowding out effect ? How is it related to

planned investment spending ?

(b) What is meant by J curve effect ? (7.5+7.5)
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4. Explain by using IS-LM curves, how there can be a fiscal and monetary

policy mix that leads to equilibrium output (GDP) but no increase in interest
rate ? (15)
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5. What will be the effect of rightward shift in aggregate demand on equilibrium
output (GDP) and price level :

(a) When the economy is on the nearly flat (horizontal) part of the aggregate

supply curve.

(b) When the economy is operating at or near maximum capacity. (7.5+7.5)
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6. What do you understand by natural rate of unemployment ? Explain how sticky

wages and efficiency wage theory affect the unemployment ? (15)
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7.  What is meant by short run Phillips curve ? Derive long run Philips curve with the

help of aggregate demand and aggregate supply curves. (15)
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8. Discuss the impact of monetary and fiscal policy in an economy with flexible

exchange rate. (15)
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